HETH [#ia
INVEZERXESE BREFEEER
(ER)
5 z
LEFEEN 25,176 A 25,416 A A
BERAY TERE 7,375 A 6,506 A A
HAaE 5,721 A 6,719 A A
TEERE 44 N 45 N A
&t 13,140 A 13,270 A A
BREZEDSBH REE 0 A 0 A A
TEEREDS B = 0 A 0 A A
EE 0o A 0 A A
ZIEEH 12,036 A 12,146 A A
BER 52.19 % 52.21 % %
(F£5H)
5 =S
LAFEEN 15 A 20 A A
BEEY NE - BUE - BEFT 3 A 1 A 4 N
HEARE 0o A 0 A 0 A
TaEEERE 0 A 0 A 0 A
&t 3 A PN 4 A
BEEEDSD RIRE 0 A 0 A 0 A
FTEAREDNDOD 2B 0 A 0 A 0 A
ER 0 A 0 A 0 A
ZIEEN 12 A 19 A A
BEE 20.00 % 5.00 % %
(BN +7E5))
5 z
LEFEER 25,191 A 25, 436
BEEH 13,143 A 13, 271
EIEEH 12,048 A 12, 165
BER 52.17 % 52.17




